Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Module-3

show that x L Py = —;- tones.
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(05 Marks)

(05 Marks)

(06 Marks)

(06 Marks)
(05 Marks)

(05 Marks)

(06 Marks)

(0S5 Marks)

(05 Marks)

4™ degree , hence evaluate log .
(06 Marks)

(05 Marks)

(05 Marks)

a. Find the components of ve10c1ty and acceleration of partical whose position vector is

T=xi+yi+zk,wherex=2smn3t, y= 2cos3t, z

Find div F , Curl F for B=xyzi+y? zxj + 2 xykat (1, 1, 1).

=8tatt= / along the vectori+j + k.

(06 Marks)
(05 Marks)

b.
c. If¢ and y are any two scalar function. Show that grad (¢ y) = ¢ grad y +y grad ¢. (05 Marks)
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OR
6 a If F= (siny+z)i+ (x cos y—2z)j + (x — y)k. Show that_ F is irrotational. Hence find scalar

potential ¢ such that F =V ¢. (06 Marks)
b. Find Directional Derivative of scalar function ¢ = xyz yz’ at (2, -1, 1) along i + 2j + 2k.

05 Marks)
c. Iff=1"7%,where T =xi+xj+zkandr= —Q‘Ir find div f. Hence find n for which f is
Solenoidal. é (05 Marks)
7 a (06 Marks)
0 &
b. Find Orthogonal trajectory oft" » (05 Marks)
c. Solve (y logx-2) ydx=x (%f (05 Marks)
- y
OR
8 a. Evaluate J (06 Marks)
0
b. Solve y[2x = Y 4 }]dx +x[3x -4y + J]dy = (05 Marks)

n‘air at 25°C cools from 100°C to 75°C on 1 minute. Find temperature of body at
end of } rmnutes 8 (05 Marks)

Module-5

9 a. Solve by Gauss elimination
x+y+z=6
x—-y+ 2z =5

(06 Marks)

(05 Marks)

c. Show that Linear Transformation y1 22Xy + Xy + X3 =Xt X+ 2%, y3 =X —2x3 08

regular Hence find Inver. tréiasformatlon (05 Marks)
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X+ yt 10z =12. Taking (0 0 0) as Initial Vector. (06 Marks)
b. Using Raylelgh’s Power methode““ﬁnd Numerically largest Eigen value and corresponding
Eigen vector.
6 —2 2] _Ayw
—2 3 1| takingxo=(1,1,1)", carry out 5 iteration. (05 Marks)
2 -1 3
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c. Reduce quadratic.form 8x2 + 7y* + 32> — 12xy + 4xz — 8yz onto Canonical form. (05 Marks)
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